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(AL AR K I E K4 5
(HHZRE, F/\#D) HEHEK

o | e | amwx | STIRSRNTURE wgm | 7T | FFEIRER | 4n
1 Ji XX EH 10 F ot B 38
2 Jigg XX RAER 5 %t -8 15
3 Jigg XX R 3 % B 5
4 Jigg XX HER 8 % nH s 30
5 Jigg XX R 10 %R B 28
6 Jijg XX PRIL A 8 AN 1 B 20
7 Jigg XX WHE 8 %ot B 20
8 | MER | &ERAK 5 %= Gl

9 | HEK 7 E 20 FHH Gl

10 | FER =LK 8 FHH Gl

1| EK PRiE 2 15.6 %A Gl

12 | MEK T # 11.5 £HM P

13 | MER | #%%E 8 % AL B p

14 | FEK HpE 8 £ EM Gl

15 | FEK TR 8 EHH Gl

16 | FEK % B 8 EHH Gohal

17 | MER ENTF 8 EHH Gl

18 | MERX | &x4 8 % AL B F

19 | MER | #%5 8 £ AM Gl

20 | MFEK | EAF 8 %A Gl

21 | MEK KA 8 FHHM Goba

22 | MEK B &AM 8 FHHM Goba

23 | MEKX =3 8 FHHM Goba

24 | MEK | BFZ 8 FEM Goba

25 | FEK &R 8 FEM Gl




26 | MEK 8 £HA

27 | MERK 8 FHH

28 | MERK 25 FHH

29 | MERK 8 FHH

30 | FERX 8 FHH

31 | FEKX 8 FHH

32 | FEKX 8 FHH

3B | MERK 8 FHH

M| MERK 15. 6 FHH

3B | MEK 8 FHH

36 | MEK 5 FHHM

37 | MEK 5 £ A AR 5
38 | FAK 5 £ 5 5
39 | AKX 10 F=4 - 15.6
40 | FHK 5.1 F=H# it F RETE 8. 06
41 | FAK 10 FHHM #x 20
42 | FAHK 9.9 FHH B 19.4
43 | FAHK 5.2 EHH B 10. 4
44 | FHK 3.3 %o it B 8.4
45 | ERK 30 £ = it p 1 A 30
46 | ERK 8 FHH il EAV 8
47 | EREK 30 % 4t il Iz 30
48 | ERKKX 15 % M0 w KA e 15
49 | BRKX 8 % M F 1 B A 8
50 | EERK 20 %t P K7 ) 20




